J 5 ) ’ @ @ phép trir phan s6 (phén s6 thich hop) (phan s6 khong
ding)

Tén: Ngay thang: Piém:
76 _ 2_5_
8 8 3 8
> 2 _ 3_6_
2 8 2 9
T4 5_4_
4 7 6 8
> 2 _ 7_3_
8 9 2 5
4_0_ 7_6_
5 9 6 8
> 6 1 1_
4 8 5 8
L 3_5_
2 9 4 7
[ 5_3_
3 8 6 7
L T_2_
3 5 6 4
L 7_3_
2 4 3 5
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phép trir phan s6 (phan s6 thich hop) (phan s6 khong

dang)

Tén: Ngay thang: Piém:
7 6 1 2 5 1

8 8 8 3 8 24

5 g_g_zl 3 6 5

2 8 4 “4 2 9 6

7 4_%_15 5 4 1

4 7 28 28 6 8§ 3

5 2 29 7_3_29_29
8§ 9 7 2 5 10 710
4. 6_2 7_6_5

5 9 15 6 8 12

S 61 1 1_3

4 8 2 5 8 40

1 1_7 3.5 _ 1

2 9 18 4 7 28
7_5_ 41 5.5_5

3 8 2 24 6 7 42

11 2 7 2 2

3 5 15 6 4 3

1 1 1 7 3 2 11
2 4 4 3 5 15 15
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